	NOTICE FOR APPINTMENT OF REGULAR/RURAL RETAIL OUTLET DEALERSHIPS													
	BPC proposes to appoint Retail Outlet dealers in Puducherry UT, as per following details													
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential in KL #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). * (Frontage x Depth = Area)		Finance to be arranged by the applicant in Lakh 9a- Working Capital 9b - Infra Capital		Mode of Selection	Fixed Fee / Minimum Bid amount in Lakh	Security Deposit in Lakh	
1	2	3	4	5	6	7	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST PH OBC OBC CC-2 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO	Estimated fund required for developme nt of infrastruct ure at RO	Draw of Lots / Bidding		
1	AMMALCHATTIRAM TO			115	50	CEC	20	25	750	0	0	Draw of	0	2
1	VIZHITHIYUR ON MDR 1008 Mahatma Gandhi Hospital to	KARAIKAL	RURAL	115	SC	CFS	30	25	750	U	U	Lots Draw of	0	2
2	Bahour on Bahour road	PONDICHERRY	REGULAR	100	sc	CFS	30	25	750	0	0	Lots	0	3
-	Mudaliarpet within postal	T ONDIONENINT				0.0				, v		Draw of		
3	limit, Pondy Town	PONDICHERRY	REGULAR	160	SC	CFS	20	20	400	0	0	Lots	0	3
	KARIYAMANIKKAM TO											Draw of		
4	MADAGADIPET ROAD	PONDICHERRY	REGULAR	100	SC	CFS	20	20	400	0	0	Lots	0	3
5	AMMALCHATTIRAM TO HARBOUR ON FISHING HARBOUR ROAD	KARAIKAL	RURAL	265	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
6	Sellipeth	PONDICHERRY	RURAL	120	ОВС	DC	30	25	750	12	30	Draw of Lots	5	3
7	KARAIKAL PORT TO VANJURE CHECK POST	KARAIKAL	RURAL	385	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
8	Neravy (Not on NH)	KARAIKAL	RURAL	72	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

a) If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. b) The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH Sites

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential in KL #	Category	Type of Site*	the	imension (ir site (in Sq. M age x Depth	Л.). [*]	by the ap La 9a- Worki	be arranged plicant in Ikh ng Capital a Capital	Mode of Selection	Fixed Fee / Minimum Bid amount in Lakh	Security Deposit in Lakh
	KARAIKALMEDU TO											Draw of		
9	KILINJALMEDU	KARAIKAL	RURAL	156	OPEN	DC	30	25	750	12	30	Lots	5	4
	Lingareddipalayam,											Draw of		
10	Thirukannur, Puducherry	PONDICHERRY	RURAL	140	OBC	DC	30	25	750	12	30	Lots	5	3
												Draw of		
11	SUBRAYAPURAM	KARAIKAL	RURAL	70	SC	CFS	30	25	750	0	0	Lots	0	2
	Manamedu, Bahour to													
	Nellikuppam road via											Draw of		
12	Manamedu	PONDICHERRY	RURAL	105	OPEN	DC	30	25	750	12	30	Lots	5	4
	On Mahatma Gandhi Road -													
	from Hotel Shenbaga within													
13	4KM.	PONDICHERRY	REGULAR	200	OPEN	CC	20	20	400	25	10	Bidding	30	5
	Madagadipet Village limit - Not											Draw of		
14	on NH	PONDICHERRY	REGULAR	110	OBC	DC	20	20	400	25	45	Lots	15	4
												Draw of		
15	Ariyankuppam on NH45A	PONDICHERRY	REGULAR	170	SC	CFS	35	45	1575	0	0	Lots	0	3
	From Indira Gandhi Statue to													
	Lowspet on ECR Road,											Draw of		
16	Pondicherry.	PONDICHERRY	REGULAR	250	OPEN	DC	20	20	400	25	60	Lots	15	5
												Draw of		
17	Pathukannu town limit	PONDICHERRY	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots	15	5
												Draw of		
18	Sedarapet	PONDICHERRY	REGULAR	120	OBC	DC	20	20	400	25	45	Lots	15	4
												Draw of		
19	Bohour town limit	PONDICHERRY	REGULAR	100	SC	CFS	20	20	400	0	0	Lots	0	3
	FROM THAVALKUPPAM JUNCTION TO													
	KIRUMBAPAKKAM - NOT ON											Draw of		
20	NH (PONDICHERRY)	PONDICHERRY	REGULAR	250	OPEN	DC	20	20	400	25	45	Lots	15	5
20		FUNDICITERNI	REGULAR	200	UFLIN		20	20	400	25	45	Draw of	1.5	ر ا
21	KARAIKAL WESTERN BYE PASS	KARAIKAL	REGULAR	135	OPEN	DC	35	35	1225	25	60	Lots	15	5
21	KANAINAL WESTERN DIE FASS	KANAIKAL	REGULAR	135	OFLIN	DC	35	35	1225	25	00	Draw of	15	5
22	Kirumampakkam (Not on NH)	PONDICHERRY	REGULAR	130	ОВС	DC	20	20	400	25	45	Lots	15	4
	Kirumampakkam (Not on NH) From Mettupalayam junction	FUNDICITERRI	NEGULAR	130			20	20	400	23	4J	LUIS		4
	to Villipuram Road on 80 Feet													
23	road	PONDICHERRY	REGULAR	250	OPEN	СС	20	20	400	25	10	Bidding	30	5
2		FUNDICHERRY	REGULAR	230	OFEIN		20	20	400	23	10	Bidding	50	ر ا
	On Andiyarpalam - Madagadipet road within											Draw of		
24			REGULAR	110	sr	CES	20	20	400	n	n		0	2
24	Pondicherry district.	PONDICHERRY	REGULAR	110	SC	CFS	20	20	400	0	0	Lots	0	3

a) If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. b) The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH Sites

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential in KL #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). * (Frontage x Depth = Area)		Finance to be arranged by the applicant in Lakh 9a- Working Capital 9b - Infra Capital		Mode of Selection	Fixed Fee / Minimum Bid amount in Lakh	Security Deposit in Lakh	
												Draw of		
25	NALLATHUR TO NEDUNGADU	KARAIKAL	REGULAR	114	OBC	DC	35	35	1225	25	60	Lots	15	4
26	Gorimedu - Not on NH	PONDICHERRY	REGULAR	170	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
	Koonichempet Panchayat limit			-		-				-				
27	on SH 203	PONDICHERRY	REGULAR	275	OPEN	СС	35	35	1225	25	10	Bidding	30	5
				110		050	20	20	100	0		Draw of		2
28	Pooranakuppam town	PONDICHERRY	REGULAR	110	SC	CFS	20	20	400	0	0	Lots	0	3
29	PATHUKANNU TO VILLIANUR BYPASS	PONDICHERRY	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
29	BTPASS	PUNDICHERRY	REGULAR	100	UBC	DC	20	20	400	25	45	Draw of	15	4
30	Karaikal Eastern Bypass	KARAIKAL	REGULAR	135	OPEN	DC	20	20	400	25	45	Lots	15	5
31	Varichikudy not on NH	KARAIKAL	REGULAR	135	OPEN	DC	30	25	750	25	45	Draw of Lots	15	5
												Draw of		
32	Thirubhuvanai (Not on NH)	PONDICHERRY	REGULAR	130	SC	CFS	20	20	400	0	0	Lots	0	3
33	Indira Gandhi Medical Collage to Pathukannu on SH 203	PONDICHERRY	REGULAR	110	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
	Karikalampakkam to Bahour	1 ONDICITEIR(I		110					1225	23	00	Draw of	15	т Т
34	on Bahour Road	PONDICHERRY	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots	15	5
						-					-	Draw of		
35	Kunichampattu	PONDICHERRY	REGULAR	130	OPEN CC 2	DC	20	20	400	25	45	Lots	15	5

a) If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. b) The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH Sites # Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be owned or on lease with applicant for minimum <u>19 years and 11 months</u> or Applicant should have firm offer for the same.

If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension.

The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH Sites."

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website <u>www.bharatpetroleum.in</u> and <u>www.petrolpumpdealerchayan.in</u> and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Applicati on fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	СС	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of <u>15</u> years and renewable every <u>5</u> years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

STATE	Territory	Districts Covered	Address	Contact No.
PUDUCHERRY UT	TRICHY	KARAIKAL PONDICHERRY	Territory Coordinator (Retail), BPCL, Trichy, Raj Towers, 1st floor, Karur Bypass Road, Trichy - 620 002	7598799900